Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

JA

ACCESORIA GROUP

vitris

Track fixed to wall

B

These assembly instructions describe
the wall attachment of one-sash and
two-sash sliding doors using the Por-
tavant glass sliding door fittings.

Intended use

The Portavant glass sliding door fit-
tings are suitable for the attachment
of glass sliding doors made of tough-
ened glass and laminated safety
glass.

The surface of the glass sash must not
have any modifications reducing sur-
face friction. Patterned glass must not
be used. The fixing (clamping) of sati-
nated glass (basis: tempered glass or
laminated safety glass) is admitted.
The glass sliding door fittings must
only be assembled by specialists with
experience in the installation of glass

sliding doors.

For the competent and stable fixation
to the building structure and the se-
lection of the fixing material, special-
ist personnel is required.

Risk of injury!

The sashes are heavy. Errors in

assembly can lead to serious in-

jury.

— Keep to the sequence pre-
scribed in these assembly
instructions.

— Observe, in particular, all
notes flagged with the warn-
ing triangle.

— Recommendation: Use the
safety set described on
page 14 if the weight of a
sash exceeds 80 kg.

Any notes from the glass manufactur-
er should also be observed.

ouse of innovat]on



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovation

vitris

Important in information

Scope of delivery

* Option

% v b

M5x 8 M4 x 12 M4 x 10 ST4,2x 18 M6 x 20 M6 x 10

1005.EV166.221

Important notes

Glass thicknesses (Nominal dimension)

Esc) | vsg? A

8 mm 8,76 mm

The maximum height-width ratio of the sashes is 2.5:1.

10mm| 10,76 mm The maximum sash weight is 80 kg with cushioning system / 120 kg without cushioning system.

12mm| 12,76 mm

1) ESG: Toughened glass
VSG: Laminated safety glass



»
T
I
I
I

1005.EV166.216

35
e

-

|
>
S

Ax2

ACCESORIA GROUP
House of innovat]on

C=

LW
A=LW+70

37
—>
I |
35
—>

a
N

J
ferioar

Tools
] 7x1.2
op 2
73120
(>3mm { H4mm
S=2

[@

de monta

<

ara sina in

v

f

35
—

iun
v

4

0811.EV166.003

Ol; mm

6mm /8 mm

|-

4Nm/12Nm

C>3mm

1102.EV166.287

Axb+bh

v

A% 7 €7-4=1H

c

ara rama si

LW
= LW/2+33
EJ ‘

A

C T T T T T T T T T T T T T T T T T T T T T T T T T T T T |I
A

58,5

22

15}

2

Planning criteria

VItris

[Dimensions

Sash height
ok

Portavant 120 - instruct

U
ic)
O
)
(0p]
=
©
(D)
)
(o
(9]
ks
G
‘U
-




Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovat]on

vitris

Top track

Optional assembly

¢ Faden entfernen
¢ Remove thread
% Fil a retirer

0901.EV166.026

Assembly

+/-1,0 mm

max. 2mm/1000mm

1102.EV166.027 0906.EV166.071



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

House of innovation

vitris

Floor-guide

Drill holes for floor-guide

0906.EV166.006

Assembly of floor-guide

ESG 8/VSG 8,76

ESG 10/VSG 10,76

D) <)

ESG
Toughened glass
Verre de sécurité simple

VSG
Laminated safety glass
Verre de sécurité feuilleté

0811.EV166.007




vitris

Activator and return stop
Variation:

Cushioning on left side only

Direction of assembly of activator

M4 x 10 mm

Variation:

Cushioning on right side only

Direction of assembly of return stop

Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

e =

JA

ACCESORIA GROUP

ouse of innovat]on

Direction of assembly of return stop

€8
/

©

M4 x 10 mm

0910.EV166.081

Direction of assembly of activator

M4 x 10 mm

0910.EV166.082



Portavant 120 - instructiuni de montaj /

Usi glisante din sticla, fara rama si fara sina inferioara

ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop

Variation:

Cushioning on one side, 2 sashes

Direction of assembly of return stop and activator Direction of assembly of activator and return stop

i

M4 x 10 mm

Ol b2 0

M4 x 10 mm

0910.EV166.095



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop
Variation:

Cushioning on both sides, 1 sash

Direction of assembly of activator

O

M4 x 10 mm

0910.EV166.083

Variation:

Cushioning on both sides, 2 sashes

Direction of assembly of activator

—0

0911.EV166.097



ACCESORIA GROUP
House of innovat]on
M4 x 10 mm

j
ferioara
s

v

v

de monta
ara sina in

v

f

iun
v

4

v

ara rama si

Activator and return stop

No cushioning, 1 sash

Direction of assembly of return stop
M4 x 10 mm

Variation:

Portavant 120 - instruct

U
ic)
O
)
(0p]
=
©
(D)
)
(o
(9]
ks
G
‘U
-

0910.EV166.084

M4 x 10 mm

T [ T T 1

T T T — T [ [ [ 1T

[ [ [ T [ T [ [ T T [T
=]

I

H

M4 x 10 mm

: - il
L
|
D
:
¥

Direction of assembly of return stop

No cushioning, 2 sashes

Variation:

0911.EV166.096



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP
P ouse of innovat]on
vitris
Assembly

A Do not bend the activator!

M

0911.EV166.080



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

vitris

Stop system
Variation:

Cushioning on left side only

Assembly direction of stops:
doors up to 80 kg

Variation:

Cushioning on right side only

Assembly direction of stops:
doors up to 80 kg

[ T [ T [ T T

T S B

S ———
j—_:j::j:::[m
\‘\‘\‘\;\;\E
e e e
L T T T T 1
T T T T 1
i B B
=
0910.EV166.098

0910.EV166.099

JA

ACCESORIA GROUP

ouse of innovat]on

0910.EV166.009

0910.EV166.085



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

vitris

Stop system
Variation:
Cushioning on both sides

Assembly direction of stops:
doors up to 80 kg

JA

ACCESORIA GROUP

ouse of innovat]on

| — —
=

= s Emae
- | -
r-l'ul — :.‘-1
0910.EV166.100
Variation:

No cushioning

Assembly direction of stops:

doors up to 120 kg

L

[==]

-

0910.EV166.101

0910.EV166.087

0910.EV166.086



vitris

Assembly of safety set

max. 1,5
—————

20

Jgp—

5/@12

<

~ v

A J

v

1

0811.EV166.010

Choice of shims per assembly side

Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

P/ N\

ACCESORIA GROUP

ouse of innovation

Assembly of safety set with sash weight > 80 kg

recommended
Toughened Laminated
glass safety glass
Relieving cut yes no
Door fittings

Risk of injury if sash falls out because of improper

assembly!

The clamp surfaces of the roller assemblies and

shims must be clean, dry and free from grease.

— Clean sash and shims with glass cleaner and al-
low to dry.

— After cleaning, do not touch shims and roller as-
semblies on the clamping surfaces.

Toughened glass

Laminated safety glass

9
0910.EV166.094

8 mm 1+2mm 1+2mm
8,76 mm 1+2mm 0,5+2mm

10 mm 2 mm 2 mm
10,76 mm 2 mm 0,5+ 1 mm

12 mm 1 mm 1 mm
12,76 mm 1 mm 0,5 mm




Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A\

ACCESORIA GROUP

ouse of innovat]on

vitris

Cleaning

0910.EV166.013



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovation

vitris

Door fittings

Assembly of roller assemblies

(2] Tighten with 12 Nm

Retighten with 12 Nm

0910.EV166.014

Assembly of the cushioning system

?Iﬁﬂg

i ®
4x18 mm

1005.EV166.238



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA
ACCESORIA GROUP

ouse of innovat]on

vitris

Assembly of sliding door
Variation:

Cushioning on left side only

Installation of cushioning system and return stop:
doors up to 80 kg
Fix the screw no. 6 only lightly!

[ 1005.EV166.239
Variation:
Cushioning on right side only
e o F @
T 2Xx
::::‘\‘\‘\‘: M4 x 12 mm

Installation of cushioning system and return stop:
doors up to 80 kg
Fix the screw no. 6 only lightly!

( [1005.EV166.240



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

OUSE of |nnovat|on

vitris

Assembly of sliding door
Variation:
Cushioning on both sides

Installation of cushioning system:
doors up to 80 kg

@z
M4 x 12 mm

1005.EV166.24

Variation:

No cushioning

Preparation return stops:
doors up to 120 kg
Fix the screw no. 6 only lightly!

0906.EV166.038



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP
® ouse of innovat]on
vitris
Assembly

Suspending sliding door

§“§/

0807.EV166.028



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA
ACCESORIA GROUP

ouse of innovation

vitris

Adjustments

Height adjustment

Danger!

The glass sliding door may jump out of the top track
if there is no safety catch.

— Adjust the safety catch as described below.

0811.EV166.018




Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A\

ACCESORIA GROUP

ouse of innovat]on

vitris

Final assembly

Option

Faden entfernen ’
Remove thread
Fil a retirer

®_‘f© @MSXSmm

0901.EV166.029

Cleaning of top track

i
1005.EV166.235



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovation

vitris

Track fixed to ceiling

| |

These assembly instructions describe Risk of injury!

the ceiling attachment of one-sash The sashes are heavy. Errors in
and two-sash sliding doors using the assembly can lead to serious in-
Portavant glass sliding door fittings. jury.

— Keep to the sequence pre-
scribed in these assembly

Intended use instructions.

— Observe, in particular, all
notes flagged with the warn-
ing triangle.

— Recommendation: Use the
safety set described on
page 14 if the weight of a
sash exceeds 80 kg.

The Portavant glass sliding door fit-
tings are suitable for the attachment
of glass sliding doors made of tough-
ened glass and laminated safety
glass.

The surface of the glass sash must not
have any modifications reducing sur-
face friction. Patterned glass must not Any notes from the glass manufactur-
be used. The fixing (clamping) of sati- er should also be observed.

nated glass (basis: tempered glass or

laminated safety glass) is admitted.

The glass sliding door fittings must

only be assembled by specialists with

experience in the installation of glass

sliding doors.

For the competent and stable fixation

to the building structure and the se-

lection of the fixing material, special-

ist personnel is required.



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

vitris

ACCESORIA GROUP

ouse of innovation

Important information

Scope of delivery

* Option

M5x 8 M4 x 12 M4 x 10 ST4,2x 18 M6 x 20 M6 x 10 005 EVi86222

Important notes

Glass thicknesses (Nominal dimension)

ESGY

vsGh

8 mm

8,76 mm

10 mm

10,76 mm

12 mm

12,76 mm

A

The maximum height-width rati o of the sashes is 2.5:1.
The maximum sash weight is 80 kg with cushioning system / 120 kg without cushioning system.

1) ESG: Toughened glass
VSG: Laminated safety glass




1005.EV166.217

35
-

|
>
»

C=Ax2

ACCESORIA GROUP
House of innovat]on

LW
A=LW+70

a

J
ferioar

(@

v

de monta
ara sina in

-—

v

35

gl
—
>

iun
v

A

0811.EV166.003

6mm /8 mm

@r—

4Nm /12 Nm

C>3mm OAmm

1102.EV166.288

A

v

Axb+4
<«
A

€7-d4=1H

ara rama si

c
4
—»
LW
LW/2+33 |
585

[ |

Yy A

. HHHHHHHHNNHHHHHHNNNNNNNNNNNH 0L

H

Planning criteria

VItris

Dimensions
Sash height

Portavant 120 - instruct

U
ic)
O
)
(0p]
=
©
(D)
)
(o
(9]
ks
G
‘U
-




Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA
ACCESORIA GROUP

OUSE of |nnovat|on

vitris

Top track

Optional assembly

Faden entfernen
1 Remove thread
1 Fil a retirer

0906.EV166.004

s L0 . -
- . S - -
.
. .
N .
4. . - . 4.

I .
< . <
DI LY

+/.1,0 mm

ﬂ

5 |

max. 2mm/1000mm




Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA
ACCESORIA GROUP

OUSE of |nnovat|on

vitris

Floor-guide

Drill holes
A

EEEea

T : T : T : T

T : T : T : T
i T : T : T : T

0906.EV166.006
Assembly

ESG 8/VSG 8,76

a

ESG 10/VSG 10,76

@R -
\
\

ESG
Toughened glass

VSG
Laminated safety glass

0811.EV166.007




Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A

ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop

Variation:

Cushioning on left side only

Direction of assembly of activator Direction of assembly of return stop

<4 S
AN Ssesisaeesteos
PO -
/% \:\:\:\ \:\:\:\:\:\:\:\:
\‘\‘\‘\ r_L|
@ M4 x 10 mm
M4 x 10 mm
0910.EV166.081
Variation:
Cushioning on right side only
Direction of assembly of return stop Direction of assembly of activator
> Cenes EE <8
\‘\‘\‘\‘\‘\‘\‘\‘ T T @
N S S S e E—— X\@
9\ T [ [ [ T T 1 T T 4 ~
e\; = 7@

@{ M4 x 10 mm

M4 x 10 mm

0910.EV166.082



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop

Variation:

Cushioning on one side, 2 sashes

Direction of assembly of returm stop and activator Direction of assembly ofactivator and return stop

.@\9\. ‘“\kg@?
7 E6540] B 7340
@{ M4 x 10 mm <% M4 x 10 mm

M4 x 10 mm
- | e
e Lo

0910.EV166.095



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop

Variation:

Cushioning on both sides, 1 sash

Direction of assembly of activator

M4 x 10 mm

0910.EV166.083

Variation:

Cushioning on both sides, 2 sashes

Direction of assembly of activator

0911.EV166.097



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A

ACCESORIA GROUP

ouse of innovat]on

vitris

Activator and return stop

Variation:

No cushioning, 1 sash

Direction of assembly of return stop

@{ M4 x 10 mm M4 x 10 mm

e e e
= s e m e =
\‘\‘\‘\ \‘\‘\‘\‘\‘\‘\‘\‘ ‘\‘\‘\‘\‘\‘\‘\‘\ \‘\‘\‘\
TOOL L T
l;l;l;l- I A -l;l;l;l
:\‘\‘\: :\:\:\:\:\:\:\:\ \:\:\:\:\:\:\:\‘ :\:\:\:
T T T T T T T T 7T T T T T T T 7T ‘\‘\‘\‘
\\:\\ r_l.ll\:\:\:\:\:\:\: :\:\:\:\:\:\:\:IJ__I T T T

0910.EV166.084

Variation:

No cushioning, 2 sashes

Direction of assembly of return stop

2 X

B
2x| P QC%

540 7 °10
@{ M4 x 10 mm M4 x 10 mm

.

0911.EV166.096



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP
P ouse of innovat]on
vitris
Assembly

A Do not bend the activator!

gl

0911.EV166.080



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

vitris

Stop system

Variation:

Cushioning on left side only

Assembly direction of stops:
doors up to 80 kg

Variation:

0910.EV166.098

Cushioning on right side only

Assembly direction of stops:
doors up to 80 kg

0910.EV166.099

JA

ACCESORIA GROUP

ouse of innovat]on

0910.EV166.009

0910.EV166.085



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara

vitris

Stop system

Variation:

Cushioning on both sides

Assembly direction of stops:

doors up to 80 kg

=~ s ey =
- £ | =
Variation:
No cushioning
Assembly direction of stops:
doors up to 120 kg

™~ s Eree

- | =

0910.EV166.101

JA

ACCESORIA GROUP

ouse of innovat]on

0910.EV166.087

0910.EV166.086



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A

ACCESORIA GROUP

ouse of innovat]on

vitris

Assembly of safety set

max. 1,5
-

S
AN
~ Ly

5/912

67 95

-t -

Y

Assembly of safety set with sash weight > 80 kg

recommended
Toughened Laminated
glass safety glass
Relieving cut yes no

0811.EV166.010



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovation

vitris

Door fittings

Choice of shims

Risk of injury if sash falls out because of improper

assembly!

The clamp surfaces of the roller assemblies and

shims must be clean, dry and free from grease.

— Clean sash and shims with glass cleaner and
allow to dry.

— After cleaning, do not touch shims and roller
assemblies on the clamping surfaces.

Choice of shims per assembly side

ey
Toughened glass Laminated safety glass
N
8 mm 1+2mm 1+2mm
8,76 mm 1+2mm 0,5+ 2 mm
10 mm 2 mm 2 mm
10,76 mm 2 mm 0,5+1 mm
12 mm 1 mm 1 mm
12,76 mm 1 mm 0,5 mm




Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A\

ACCESORIA GROUP

ouse of innovat]on

vitris

Cleaning

0910.EV166.013



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

ouse of innovation

vitris

Door fittings

Assembly of roller assemblies

(2] Tighten with 12 Nm

Retighten with 12 Nm

4 x

0910.EV166.014

1005.EV166.238



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA

ACCESORIA GROUP

House of innovation

vitris

Assembly of sliding door

Variation:

Cushioning on both sides

Installation of cushioning system:
doors up to 80 kg

Q2
M4 x 12 mm

1005.EV166.24

Variation:

No cushioning

Preparation return stops:
doors up to 120 kg
Fix the screw no. 6 only lightly!

0906.EV166.038



Portavant 120 - instructiuni de montaj

Usi glisante din sticla, fara rama si fara sina inferioara /A
ACCESORIA GROUP
® ouse of innovat]on
vitris
Assembly

Suspending sliding door

S PR

%

.

0]

0806.EV166.017



Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara IA
ACCESORIA GROUP

ouse of innovation

vitris

Adjustments

Height adjustment

Danger!
The glass sliding door may jump out of the top track

if there is no safety catch.
— Adjust the safety catch as described below.

0811.EV166.018

0811.EV166.019




Portavant 120 - instructiuni de montaj
Usi glisante din sticla, fara rama si fara sina inferioara /A

ACCESORIA GROUP

ouse of innovat]on

vitris

Final assembly

Assembly of facings and end-plates

0906.EV166.021

Cleaning of top track

i T : T : T : T
1005.EV166.236




